Mathematics benchmark assessment memorandum
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3. If In[LJ:a+bx, solve for vy .
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4. Simplify In(E).

In(é) =InA-InB
B

5 If y=ae™, In(y)="

Iny =Ina—bx



6. What is the maximum of the curve y = ax —bx*?

%{ax—bxz}zo
a—2bx=0

a = 2bx

7. Solve di{x2 +2y+3xy}.
X

%{x2 +2y+3xy}= 2X +3y
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Use the chain rule here.

Let u=+/x = x"2
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9. Solve % {xe’zx}.

Use product rule and chain rule

= x% > }re? % {x}

=xe ¥ x-2+e*x1
=-2xe ¥ +e ¥
=e?(1-2x)

10. Solve i{In X}
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11. Solve &{e }



12. Solve _[mdx

Imdx=mx+C

13. What is the geometric mean of {y,, y,,..y, }?
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14. What is the standard error of the mean of {y,, y,,..y, }?

15. Explain what a null hypothesis is to your grandmother.

The null hypothesis is basically the idea/guess that there is no difference
between measured phenomena and that any difference between them can be
caused by chance alone.



